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CN—10—2017
FACULTY OF COMMERCE
B.Com. (Second Year) (Fourth Semester) EXAMINATION
MARCH/APRIL, 2017
COST ACCOUNTING—II
(MCQ & Theory)

(Friday, 17-3-2017) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. :— () Solve Question No. 1 on OMR sheet during the first half hour.

(i1) Question No. 1 and Question No. 2 are compulsory.
(ii1) All questions carry equal marks.

(tv) Use of simple calculator is allowed.

() YT H. 1% OMR 9= HedEal 378, <I9S Ufeetl A a1 9 Uled.
Gi) WA H. 1 0 WH S+ 2 § G eARd.
(i) | YA GHE O SR

Gv) =Y TMURIS YU E 3R,

MCQ
1. Multiple Choice Questions : 10
a'gq?ﬁq“r TR
(B) e is the loss which is unavoidable on account in

inherent nature of production process.

(@) Normal loss (b) Abnormal loss

(¢)  Actual loss (d)  None of these

SCITGH Wshereal ST THEHes 7 Tesal 0T GIfaq e TEUTCTC.
(@)  HERO EIH (b)  STHERT B

() g8 = (d) aTdeR! &

P.T.O.
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Abnormal gain means ..........ccccceeeeeeiieeieennnnnn. .

(@) Normal output — Actual output

(b)  Unit introduced — Normal loss (units)

() Actual output — Normal output

(d) Actual output x Normal output
o I )
(@  EMH 3ART — T 3R

(b) TUSmSMET WG — G B (Tehah)

(c) T 3G — M 3G

(d) AT IUIeT x HHI 3G

Which method of costing is useful in oil industry ?

(@)  Process costing (b)  Contract costing
(c) Operating costing (d) ~ All of these

do ML SUYe IReTd qgdl hivrdt ?

(@)  foen aftemmm (b) S eI

(c) =T Reqa (d) A wd

Work certified means ........ccocceeevevvvenniecnnneen. .

(@) Incomplete part of contract

(b)  Completed part of contract certified by surveyors
(¢) Both (@) and (b)

(d) Total contract value

(@) ST AU YR
(b) AT SHIT YUl SO HET YHIM herel
(¢) Tl (a) 9 (b)

(d) SHE THY A
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Plant and material lost by fire on contract site is ..........cccceunnnnn.. .

(@) Debited to Contract Alc b) Debited to P/L Ale

(¢) Debited to Plant A/c (d) None of these

%aznan T mﬂé E 1 m g’—aisl- g g—l-q-l;ﬁ g"T ............................. (—;i%?ﬁ
ST

(@ T oA A (b)  THR/AR TR A6

()  HI e @ (d) et AT

Contract price ¥ 25,00,000, 40% work is certified. The value of work
doneisT ...ccoevveiiiiiiinns .

(@)  12,50,000 (b) ~ 10,00,000
(c) 15,00,000 (d)  17,50,000

SFE Hqed ¥ 25,00,000, GHITA &1E 40%, GUl holedl &R oI
S :

(@ 12,50,000 (b)  10,00,000

(c) 15,00,000 (d)  17,50,000

Running charges in operating costing are .............ccccceeeeeeeeeeennnnn, .
(@) Fixed (b) Variable

(e) Both (@) and (b) (d) None of these
GRETe RIS JUMCHEE HMoTq S s ST
(@) o (b) M

(©) T (a) SO () (d) =T A
....................................... is not included in standing charges.
(@) Salary of manager b) Insurance of motor
(c) Tyres and Tubes (d) Road licence
....................................... =7 W W '@_tﬁﬁ aﬁl :"@-

(@)  HITATIHRTE o (b)  HRRME fam

() <dTAT A d) U TEHl Yk

P.T.O.
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....................................... item is added to costing profit to arrive at financial

(@) Under-absorption of overheads
(b) Interest on Bank loan
(e) Over-absorption of overheads

(d) Loss due to theft

(@) A== =LA

(b) kAT Heleldd TS
(e) Sfereare AfeRe

d) =S ThdH

.......................................... items are not included in cost accounts.

(@) Interest on capital (b)  Interest on debentures
(c) Cash discount (d) ~ All of these
-q-ﬁsq—q m ........................................ -qa-l%n- W _E?lﬁ q-lé-
(@)  ViEaAERI S (b)  RUIUTEIA A
() U@ TR (d) It wd
Theory

X’ undertook a contract for construction of a building as on 1-1-2016. Contract
price was Rs. 1,20,000.

The following details are available for the year 2016 : 10
Rs.
Material issued to site 33,600
Direct Wages 34,000
Direct Expenses 800
Establishment Expenses 3,200
Plant Purchased as on 1-7-2016 6,000
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Wages accrued as on 31-12-2016 280
Direct exp. accrued as on 31-12-2016 120
Material at site as on 31-12-2016 600
Cost of work uncertified 1,400
Cash received (being 80% of work certified) 60,000

The life of plant purchased is five years and scrap value is Rs. 1,000.
Prepare :

(@) Contract Account

(b) Work-in-progress Account.

1-1-2016 ST ‘&1’ F Tk THRA SNEHMET Sh] Baqall. = eI 1,20,000 & T
2016 o=l Weflel AMfed! SUeTsd e

.
seeRmre fommon frffaa wmsh 33,600
JAg w 34,000
YA Y 800
ST =2 3,200
1 S, 2016 TSt I3 B 6,000
31-12-2016 TS 31&d L 280
31-12-2016 TSt 3T YA =4 120
31-12-2016 st ArerhT=AT foshmoft ATl 600
YA e qed 1,400
T AW (YEIA SR 80%) 60,000
TR holedl I TS U F8 ST TR Hed 1,000 T ST
CSRZI RN TR I
(31) 3IH @

(@) fwamel =@ <@
P.T.O.
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A product passes through processes A, B and C. The normal wastage of each
process is as follows : 10

Process A = 3%, Process B = 5% and Process C = 8%.

Wastage of Process A was sold at 25 paise per unit, that of Process B at
50 paise per unit and that of Process C at Re. 1 per unit.

10,000 units were issued to Process A in the beginning of April 2015 at a
cost of Re. 1 per unit. The other expenses were as follows :

Process A Process B Process C
Materials (Rs.) 1,000 1,500 500
Labour (Rs.) 5,000 8,000 6,500
Direct Expenses (Rs.) 1,050 1,188 2,009
Actual Output (was) 9,500 9,100 8,100
units units units

Prepare Process Accounts.

TehT & Scdied diF faurE S @ WU HAgwA ‘3, ‘9 o ‘R g faed
YEIATHTS HERY BHI B

fam ‘31’ = 3%, faur ‘@' = 5% onfu faun ‘&' = 8%.

faen ‘o1’ wefir WERW TEY 25 YW UfG Tohe wEr faun ‘9 Hee @emer eifd
50 T8 wfa The FETO R faen ‘%’ meter WEmer gE 1 ¥9Y YA Tehde WHETOY
forel .

e 2015 =01 geardd faen ‘@1’ @ 10,000 Theh FFiHT el war= fvaa ufq T
1 T Bdl. SR ©E Weild YHO B

faerm ‘a1’ faem ‘&’ faem ‘=’
I (%) 1,000 1,500 500
g (%) 5,000 8,000 6,500
Tas 4 (%) 1,050 1,188 2,009
JA& IR 9,500 9,100 8,100
THh Th Th

faen o TR FA.
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Or
(feram)
A Transport Service Company is running 4 Buses between two towns
which are 50 kilometers apart. Seating capacity of each Bus is 40 passengers.

The following particulars are obtained from their books for the month of
April 2015 :

Rs.

Wages of drivers, conductors 2,400
Salaries of Office Staff 1,000
Diesel and other oil 4,000
Repair and maintenance 800
Insurance and taxes 1,600
Depreciation 2,600
Interest and other charges 2,000

14,400

Actual passengers carried were 75% of the seating capacity. All the four Buses

run all days of the month. Each Bus made one round trip per day.
Find out the cost per passenger per kilometer.

Teh AU AT S IE= SO 4 99 FTelfad. o g IBde @R 50 feramieR
AR, YIh dH=] 98T &gUdT 40 YOI TR THA 2015 A1 Aigr=l Wieid Aifgdr

AT GERIRIQT SUasd Felell 3T

kR
SRR, hredeld o 2,400
HEGE HHARAE A 1,000
fegia smfor s ad 4,000
qEKIT ST oo 800
P.T.O.
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fam 9+ 1,600
SR 2,600
=N 9 s T 2,000

14,400

TAAM a6 SHAAT 75% JaTedr=l dedeh v el el IRe a9y Hig=Anid
wd feom arafavar Te oTed. Ush a9 Uoish fead SO g U eTeft wg quf
Hedl 3.

Tl et ufa foedt aRema Sy e

In a factory the works-overhead is charged at 60% of labour and office overhead

at 20% of Factory cost. 10
The total expenditure is as follows :
Rs.

Materials 4,00,000
Labour 3,00,000
Factory expenses 1,95,000
Office expenses 1,75,000

Total 10,70,000

10% of the output is in stock and total sales is Rs. 10,25,000.
From the above information, prepare :

(@) Cost Sheet

(b) Profit and Loss Account as per Financial Books

(e) Reconciliation Statement.

TRl SwREIG Aol sifera Asi=n 60% il e sifvema fmif =@men
20% SATRRUATA Hdll.

THY IREE Wy e

ER
RS Ie=pi 4,00,000
T 3,00,000
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frafoft == 1,95,000
FHEeE = 1,75,000

TR0 10,70,000
SRS 10% AT ¥Teets oF wsw fast 10,25,000 & = 3T
oiiel Hifgd! a&T TR HA
(1) UReHm faero
() onfdfe TRATER THER @
(&) THYE faawu (Reconciliation Statement).

Or
(fenam)
From the following information prepare a Reconciliation Statement :
Rs.

(@) Net Profit as per financial records 64,377
(1) Net Profit as per costing records 86,200
(ziz) ~ Works overhead under recovered in Cost Books 1,560
@iv) Office overhead over recovered in Cost Books 850
(v) Depreciation charged in Financial Accounts 5,600
(vi)  Depreciation charged in Cost Books 6,250
(vit)  Interest on Investment not included in Cost Books 4,000
(viit) Loss due to obsolescence charged in Financial A/c 2,850
(ix) Income Tax provided in Financial A/c 20,150
(x) Bank Interest and Transfer Fees received in Financial A/c 375
(xi)  Stores Adjustment credit in Financial Books 237
(xit)  Loss due to depreciation in Stock Values charged in

Financial Accounts 3,375

P.T.O.
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el Alfgdr=an STER a1 foelon aar 4

5.
()  oTfYe TEAER S TH 64,377
() IR TEATER S T 86,200
Gii)  OReHd oTed HHl SehRoen v sifere 1,560
(v) ARSI A T SR wEAd ey 850
(v) e JEhM TR ST 5,600
i) AR T SRRl ST 6,250
wii) fafErmeda = S aera gEae wHifase et 4,000
(viii) PTAfIEd (obsolescenc) HRUM Feiel B, 3TfE e
FTHIAAT 2,850
(Ix) oYY oA SThReiell ST 20,150
x) e oRed favemd Udo ifeReehed el =Te emifin
BEATAYUl Y[ceh 375
(xi) O HEESH STHE [ HHRHT 237
(xii) TRYTAT STEYIMHA el TRy SUE @A SRRt 3,375
CN—10—2017 10
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